B I o e b

WWW.VSJSJ.COM  021-59962109

i T AL 328 FH V0 T

Notes of product ordering

VF &3l

i i !-
ML G12E LS.
40, 50, 60, 70, 80, PO: A % 7 Bt T i 206 FE ERLAIL G R L A
90, 120, 130, 142, Lo Ifmﬁgir ol o L4 3
215 O % Al S
}jﬁi_?i,é!:ﬁ.
M. 3. 4. 5. 6. 8. 10 i B
7. ' . .
M 25 125 1oy 15, 13 20, 2% 25 SLGHN S2:idlil S3: 75k AN
=% 60, 64, 72, 75, 80, 90, 100 K1 DL K2:UHEdl K3:fEH L
=2 90, 144. 150. 160. 180. 200 OP 3 : 0 HE BLAT K% C OP4 < I JE 22 i
240, 256. 288. 320. 384, 512. TR S BRE R
600. 800

VFR &3l

DL | GIE S,
40, 50, 60, 70, 80, | PO: K % 17 B DU AN R R LG R, RS Y
90. 120, 130, 142, | P1: i 1y Bt Bk L R
215 P2:
ﬁifié%: 3. e Bs By B 16
T 5 ’
: .’- A Y Al » & LY . e m&mﬁf?ﬂt'
Wdls on T2e Lon Ty 18 120 BL, 125 SLJGHN S2: i S3:fEREM
=%%. 60, 64. 72. 75. 80, 90. 100 K1:6fL  K2:fgdl K3:fE6E 4l
T 190, 144. 150. 160. 180. 20( OP3 : 8 BLAGT AR 2T OP4 : Jik s 2 L
» Y aUs 160\ 180\ 200\ T'J‘HJ-\]{{'[}II—%%*
240, 256. 288. 320. 384. 512. ' =
600. 800

-38 -




B3 NI ek 3 b

WWW.VSJSJ.COM  021-59962109

3:1 8 10 18 22 40 50 125 = 210 400 1,050

4:1 18 20 40 45 110 125 260 450 800 1,780

L | & 16 18 36 41 90 110 230 400 700 1,600

6:1 22 26 55 65 125 260 550 1,000

8:1 5 6 15 18 50 55 120 = 210 450 950

10:1 12 15 22 32 70 130 210 305

9:1 8 10 18 22 40 50 125 = 210 400 1,050

12:1 18 20 40 45 110 125 260 450 800 1,780

1511 16 18 36 41 90 110 230 400 700 1,600

16:1 18 20 40 45 110 125 260 450 800 1,780

@ 20:1 18 20 40 45 110 125 260 450 800 1,000
g& L, | 251 16 18 36 41 90 110 230 400 700 1,780
& 30:1 36 41 90 110 230 260 700 1,600
g% 32:1 18 20 40 45 110 125 260 450 800 1,600
z 36:1 22 22 55 65 125 260 550 1,780
¥ 40:1 16 20 36 41 90 110 230 400 700 1,600
g' Nm 48:1 22 22 55 65 125 260 650 1,000
z 50:1 20 25 50 67 120 230 450 700
g} 64:1 6 6 15 18 50 60 120 210 450 1,000
% 481 18 20 40 45 110 125 260 450 800 1,780
£ 60:1 18 20 40 45 110 125 260 450 800 1,780
2 64:1 18 20 40 45 110 125 260 450 800 1,780
75:1 16 18 36 41 90 110 230 400 700 1,600

80:1 18 20 40 45 110 125 260 450 800 1,780

90:1 16 18 36 41 90 110 230 400 700 1,600

100:1 18 20 40 45 110 125 260 450 800 1,780

120:1 18 20 36 41 110 125 260 450 800 1,780

12514 16 18 36 41 90 110 230 400 700 1,600

L 4504 16 18 36 41 90 110 230 400 700 1,600

160:1 18 20 40 45 110 125 120 450 800 1,780

180:1 16 18 36 41 90 110 110 400 700 1,600

200:1 16 18 36 41 90 110 230 400 700 1,600

240:1 36 41 90 110 230 400 700 1,600

256:1 18 20 40 45 110 125 260 450 800 1,780

3201 16 18 36 41 90 110 230 400 700 1,600

384:1 22 22 55 65 125 260 550 1,000

5121 6 6 15 18 50 50 120 210 450 1,000

w3



B3 NI ek 3 b

WWW.VSJSJ.COM  021-59962109

Max. output torque N.m
& A E 2

1.5times Te:N  1.5&#EHE
Emergecy stop
gmsme M

2 times T2N fEEEHE
@it N 165 185 240 265 400 450 1,240 2250 3700 4,800

e nt | N 135 150 220 230 420 430 1,000 1,500 3,500 4,500
T i 0.65 0.7 1.8 1.95 4.7 4.85 1 22 35 55
M peed | rom 10,000 10,000 8,000 8000 6,000 6000 6,000 4,500 4,500 4,000
Ao ool | rpm 4500 4500 4,000 4,000 3,500 3,500 3,500 8,000 3,000 2500
rgi%e i3 aBA) <56 <56 <58 <58 <60 <60 <65 <68 <70 <70
: | | <60 <B0 <61 <61 <63 <63 <68 <70 <75 <78
AVE;?;;[;“’HB h 20'000
E"e“”;.?’uﬁ";grg” load| ¢ 16 =96% 281 =94% 3 =90%
e | <3 <3 <3 <3 <3 <3
PO 5 L2 <5 <5 <5 <5 <5 <5
© L3 » <7 <7 <7, <7 < <7
= L1 <14 <14 <5 <5 <5 <5 <5 <5 <5 <5
v |P1| § [L2 <16 <16 <7 <7 <7 | =7 <7 <7 <7 <7
&= o La <18 <18 <9 <9 <9 <9 <8 <9 <9 <9
a’% e L1 <20 <20 <14 <14 <8 <8 <8 <8 <8 <8
o P2 § L2 <24 <24 <16 <16 <10 <10 <10 <10 <10 <10
= @ La <28 <28 <18 <18 <12 = <12 <12 <12 <12 <12
E = | L1 <5 <5 <5 <5 <5 <5
S PO g L2 <7 <7 <7 <7 <7 <7
@ © |Ls <9 <9 <9 <9 <9 <9
VER £ |B <16 <16 <7 <7 <7 <7 <7 <7 <7 <7
Pt| B [L2 <18 <18 <9 <8 <9 <9 <9 <8 <9 <9
S La <20 <20 <11 <11 <11 <11 <11 <11 <11 <11
[= L1 <22 <22 <16 <16 <10 <10 <10 <10 <10 <10
P2 E Lo <26 <26 <18 <18 <12 <12 <12 <12 <12 <12
o |Ls <30 | <30 | <20 <20 <14 <14 <14 <14 <14 <14
31 0031 0031 0135 0135 077 0.77 2.63 5.83 12.14 2516
41 0022 0022 0093 0093 052 0.52 1.79 3.21 7.78 | 2430
51 0019  0.019 0078 0078 045 0.45 1.53 3.10 6.07 2324
L' 61 0018 0018 0075 0075 042 0.42 1.40 2.85 524 2058
_ 81 0017 0017 0065 0065 0.39 0.39 1.30 2.10 463 5680
™ 101 0016 0016 0063 0063  0.39 0.39 1.28 195 4,60
= 151 0015 0015 0039 0039 072 0.72 2.40 3.35 747 5530
§ . 201 | 0.007 0.007 0049  0.049  0.35 0.35 1.60 2.73 6.95 5210
L § 25:1 0007 0007 0039 0039 025 025 1.40 225 665 5210
B 2 |, 821 0007 0007 0038 0038 0.18 0.18 1.40 2.25 581 5009
B 40:1 | 0.005  0.005 0027 0027 0.18 0.18 1.30 2.25 581 5009
é 64:1  0.005  0.005 0.027 0027 0.6 0.16 1.30 2.25 528 4075
S 60:1  0.015 0015 0039 0039 028 0.28 1.57 2.87 6.85
80:1  0.007  0.007 0.039 0039 0.25 0.25 1.38 2.25 6.10
100:1 | 0.007  0.007 0016 0016  0.25 0.25 1.35 2.15 570 3860
160:1 | 0.013 0013 0016 0016  0.18 0.18 1.35 2.10 555 3650
L3 2001 0005 0005 0016 0016 0.8 0.18 1.30 2.10 582 3285
256:1 | 0005 0005 0016 0016  0.16 0.16 1.30 2.10 521 3285
32011 0005 0005 0016 0016 0.16 0.16 1.25 2.10 515 3071
5121 0005 0005 0016 0016 0.1 0.16 120 210 515 2885
N L1 0.37 0.37 0.93 0.93 2.35 2.35 6.15 11.30 19.00 &1
] VF L2 0.45 0.45 1.15 1.15 2.70 2.70 8.00 13.50 2400 42
‘f ‘o | L3 0.55 0.55 1.35 1.35 3.20 320 1000  15.80 29.00 50
5 il 0.51 0.51 1.7 1.7 44 | 44 12 17 26.5 50
£ VFR L2 0.61 0.61 1.9 1.9 5.0 5.0 14 19 29.6 61
L 0.71 0.71 2.1 2.1 5.5 5.5 16 21 32.6 70
(1)Means:Allowing radial force and axial force that function in output central place when output speed is 100 rpm.  (1)3%:7. ZE6 H 8138 100mmis, fE /8 TR b O LB > BEE R h T B 0.
(2)The weight of reducer in this book is approximation,the practical is depend on the finished product. EEaERTEERREEES NS, XRERMRORLE,
(3)The moment of inertia relates to the ratio. frame. input shaft and to standard motor shaft . etc. (MEmEEEE, ARENSEN. S BEEEDREAMN, HRHE
IR,

L



B3 I a0 e b

WWW.VSJSJ.COM  021-59962109

output input S{EIRMA input @EEIGA
VF40-160 #R# EFRER
D2 L3 A2
ol L61 L7 L o D21 _ |
4 - —t—
_ * & . !
e = IR - i R '
gl N\
1 =] S -
L51, T 5—! La D11
Other shaft [P R HER
E - S1 shaft 3 Sz | shaft with key Big# S3 | splined shaft f£Ei@¥ St | special shaft 4578
‘% - i }E ) P ) }33 According to customers
‘é ( ( ( APERFE
E ki |hollow XA FLsremE®) k2  hollow with key B M7 ks splined hollow #E8MI.  k«  special hollow ¥¥7L
sz . . . |
: ] According to customers
g ( APERGIE
(=]
Al 45 55 60 75 90 95 120 145 175 215
B1 3 4 5 5 6 6 8 10 12 14
C1 M4X10 M4X10 M5X12 M5X12 Méx16 M8X19  M10X22 M12X25 M12X25 M12x42
H1 11.2 13.5 16 18 225 245 28 . 35 43 . 53.5
D1 o | 50 60 70 85 100 110 130 160 185 235
E D2 4X _ ©3.5 ©4.5 ®5.5 5.5 6.5 D6.5 8.5 11 11 ©13.5
-% D3 @h6 10 12 14 16 20 22 25 32 40 50
g D4 @ _ 12 15 17 20 25 25 35 40 60 65
e D5 ©h7 26 45 50 50 80 85 110 120 130 180
3 D7 o] . 40 50 60 70 80 20 115 140 162 205
L1 . 16 14 25 25 25 25 40 55 65 70
L2 2.5 25 25 3 5 2 5 6 7.5 7.5
L3 23 18 30 28 36 36 50 70 80 82
L4 26 24.5 35 35 40 46 55 75 87 90
L5 2 4 3 5 3 5 4 5 5 6
7% .38.5 53 675 335 495 655 . 48 67 B6 475 675 875 . 65 865 1105 5 77 101 74 104 134.5. B5 1235 162 95 13451735 .137 1765 216
A2 motor  ARIEEHL  motor  ARIEEHL  motor  RWIFEHL  motor  RIFEHL  motor  IREBHL
B2 motor  ARIFEHL  motor | IRIEEHL  motor  RWIFEAL  motor  RIFEYL  motor  RIEBEHL
§[7- H2 5 @ | motor RIFEHL motor  #IEEHL  motor  AREEH  motor RIFEH  motor R
¥ Di1 g E motor  iRIFEHL  motor | ARIEEHL  motor  RWIFEML  motor  RIFEHL  motor  IRIEEBH
55 D21 S motor IRIEENL  motor  IRI|EBH  motor  IRIEEM  motor | IRIFEN = motor | IRIFELL
g D31 § E motor HRIEBEYL  motor HRIFBEHL  motor RIZEN motor HRIEBESL  motor RIEE
E D51 2 % motor  #RiEFHL motor  ARIEEHL motor  MIEMH  motor  ARIEEYL  motor  RIFAHL
£ L3t motor  R#IEAHL  motor  RIBEHL  motor  IRIJEHL  motor  RIBEHL  motor | RIBAEM
L51 motor  HRIEEHL  motor  HIEEHL  motor AREMM  motor  ARIFEBH  motor  IRIBAH
L61 motor  HR4EEHL  motor  IRIEEHL  motor  ARIEEH  motor  IRIEEHL  motor  IRIEEEHL

(1)dimensions refer to the mounted motor-type ,the size can be changed
(2)dimensions refer to the frame of the boxes,the size can be changed

will ]

(NELSYHRARTHOBREMN BLRTTLIEEL
(2B MRS HEAMAEE N LRI IA K



B3 NI ek 3 b

WWW.VSJSJ.COM  021-59962109

D51

o 1

Other shaft Fl P A[iRiRaER LSS

" W

utput hollow| output shaft

Al
B1
c1
H1
D1
D2
D3
D4
D5

output/# 3% R~

L1
L2
L3
L4
L5

L7?|

A2
B2
H2
D11
D21
D31
D51
L31

input" /s i R~

L51 |

L61

Acbrdihg to motor

S

k1

o]

4X0 |
@hé

0]

" ®h7 |
D7

BRI

shaft ¥

<

R semEE) |

3

45

3
M4X10
11.2
50
®©3.5
10
12
26
40
16
25
23
26
2

385 53 675 335495 655 48 67 86 4756756875 65 8651105 55 77 101 74 104 1345 85 1235 162 95
HREZEH

motor
motor
motor

motor
motor

motor
motor

motor
motor

motor

4
M4X10
13.5
60
4.5
12
15
45
50
14
2.5
18
245
4

BB
R
R
RER

REE

BN
REEH

CRIBENL

RFBEH

55

input S{ERIAN

VFR40-160 3

Sz | shaft with key B

T

kz | hollow with key B AR ks

60

5]
M5X12

16

3

motor
motor
motor

motor
motor

motor
motor

motor
motor

motor

75

5
M5X12

18

5

iR
g
R

R
RIBAEL

iREa
Rz

ElU
miBE

HREE L

(1)dimensions refer to the mounted motor-type ,the size can be changed
(2)dimensions refer to the frame of the boxes,the size can be changed

90
6
Méx16
225
100
®6.5
20
25
80
80
25
5
36
40
3

motor
motor
motor

motor
motor

motor
motor

motor
motor

motor

il D

Sz | splined shaft £

[

splined hollow @A ke

95

6
M8X19
24.5
110
©6.5
22
25
85
90
25
5
36
46
5

iR

REEN

RIE A

REEREA
RIBBEHL

Er T

HRIEEN
RIBAEH

REE

BB

120

St

input EERIGA
EPER

special shaft $§%#

According to customers

RAPREREHE

special hollow $%7l

According to customers

RAPEREHE

145

8 10
 Mi10x22 M12x25
28 35
130 160
8.5 11
25 32
35 45
110 120
115 140
40 55
5 6
50 70
55 75
A 5
motor  IRIBEHL
motor RIEE .
motor HRIFEN
motor  iRIZEM
motor RIEE
motor AR .
motor  iR#EEEM
motor REEN
motor RIFEM
motor RIEE

43
185
11
40
60
130
162
65
8
80
85
5

motor
motor
motor

moto
motor

motor
motor

motor
motor

motor

M12X25

215
14
M20x42
53.5
235
135
50
65
180
205
70
7.5
82
90
6

18451735 137 1765 216

HREERL
HRER
REE AN

HREE AL
HRIER

RE A
WRIEBA
R
REE AL

g

(NiELLYHRATBHMNERTM BLRITTIEEY
(2)ELS W SR EHR A HA N B L RTATE R



